
Approche par estimation directe 
●  Ce#e	
  approche	
  est	
  similaire	
  à	
  l’appren3ssage	
  supervisé	
  

u  on	
  apprend	
  à	
  par3r	
  de	
  paires	
  	
  
	
  	
  	
  	
  (état	
  visité	
  s,	
  somme	
  pondérée	
  des	
  récompenses	
  à	
  par3r	
  de	
  s)	
  

●  L’es3ma3on	
  ignore	
  la	
  rela*on	
  récursive	
  entre	
  les	
  valeurs,	
  décrite	
  par	
  les	
  équa3ons	
  de	
  
la	
  fonc3on	
  de	
  valeur	
  
	
  

	
   	
   	
   	
   	
  V(s)	
  =	
  R(s)	
  +	
  γ	
  	
  Σ	
  s’	
  ∈	
  S	
  P(s’|s,	
  π(s))	
  V(s’)	
  

●  Par	
  exemple,	
  bien	
  que	
  l’essai	
  1	
  dit	
  rien	
  sur	
  (3,2),	
  elle	
  nous	
  apprend	
  que	
  (3,3)	
  a	
  une	
  
valeur	
  élevée	
  

●  On	
  pourrait	
  également	
  déduire	
  que	
  (3,2)	
  a	
  une	
  valeur	
  	
  
élevée,	
  puisque	
  (3,2)	
  est	
  adjacent	
  à	
  (3,3)	
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Approche par programmation  
dynamique adaptative 

●  C’est	
  l’idée	
  derrière	
  la	
  programma*on	
  dynamique	
  adapta*ve	
  (PDA)	
  
u  3rer	
  profit	
  des	
  équa3ons	
  de	
  la	
  fonc3on	
  de	
  valeur	
  pour	
  es3mer	
  V(s)	
  

●  L’approche	
  par	
  PDA	
  n’apprend	
  pas	
  directement	
  V(s),	
  mais	
  apprend	
  plutôt	
  le	
  modèle	
  de	
  
transi3on	
  P(s’|s,	
  a)	
  
u  étant	
  donnée	
  une	
  es3ma3on	
  de	
  P(s’|s,	
  a),	
  on	
  peut	
  résoudre	
  

V(s)	
  =	
  R(s)	
  +	
  γ	
  	
  Σ	
  s’	
  ∈	
  S	
  P(s’|s,	
  π(s))	
  V(s’)	
  
u  	
  on	
  ob3ent	
  alors	
  notre	
  es3ma3on	
  de	
  V(s)	
  

●  On	
  peut	
  es3mer	
  P(s’|s,	
  a)	
  à	
  par3r	
  des	
  fréquences	
  des	
  transi3ons	
  observées:	
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P(s’|s,	
  π(s))	
  	
  	
  =	
  
	
  Σ	
   freq(s’,s)	
  
essais	
  

	
  Σ	
   freq(s)	
  
essais	
  

nb.	
  de	
  transi3ons	
  de	
  s	
  à	
  s’	
  
dans	
  l’essai	
  	
  

nb.	
  de	
  fois	
  que	
  s	
  est	
  visité	
  
dans	
  l’essai	
  

somme	
  sur	
  
tous	
  les	
  essais	
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Fonc3on	
  qui	
  résout	
  
	
  	
  	
  V(s)	
  =	
  R(s)	
  +	
  γ	
  	
  Σ	
  s’	
  ∈	
  S	
  P(s’|s,	
  π(s))	
  V(s’)	
  
 



Approche par programmation  
dynamique adaptative 

●  Exemple	
  (avec	
  état	
  terminal)	
  

	
  
	
  

u  MDP	
  à	
  3	
  états:	
  S	
  =	
  {s0,	
  s1,	
  s2}	
  
u  fonc3on	
  de	
  récompense:	
  R(s0)	
  =	
  -­‐0.1,	
  R(s1)=	
  -­‐0.1,	
  	
  R(s2)	
  =	
  1	
  
u  le	
  facteur	
  d’escompte	
  est	
  γ=0.5	
  
u  s2	
  est	
  un	
  état	
  terminal,	
  s0	
  est	
  l’état	
  ini3al	
  
u  plan	
  suivi:	
  π(s0)	
  =	
  a1,	
  π(s1)	
  =	
  a3	
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a2	
  1	
  

a1	
   0.2	
  
a2	
   0.2	
  

a4	
  1	
  

0.8	
  a1	
  

a2	
  0.8	
  
s2	
  s1	
  s0	
  

0.1	
  

0.9	
  
a3	
  

a3	
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●  Ini3alement,	
  on	
  suppose	
  aucune	
  connec3on	
  entre	
  les	
  états	
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Approche par programmation  
dynamique adaptative 

	
  

	
  
●  Observa3ons:	
  (s0)	
  -­‐0.1	
  

	
  
V(s0)	
  =	
  -­‐0.1	
  
V(s1)	
  =	
  -­‐0.1	
  
V(s2)	
  =	
  1	
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●  Observa3ons:	
  (s0)	
  -­‐0.1	
  →	
  (s0)	
  -­‐0.1	
  

	
  
V(s0)	
  =	
  -­‐0.1	
  +	
  0.5	
  V(s0)	
  
V(s1)	
  =	
  -­‐0.1	
  
V(s2)	
  =	
  1	
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s2	
  s1	
  s0	
  

1/1	
  =	
  1	
  
a1	
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●  Observa3ons:	
  (s0)	
  -­‐0.1	
  →	
  (s0)	
  -­‐0.1→	
  (s1)	
  -­‐0.1	
  

	
  
V(s0)	
  =	
  -­‐0.1	
  +	
  0.5	
  (0.5	
  V(s0)	
  +	
  0.5	
  V(s1)	
  )	
  
V(s1)	
  =	
  -­‐0.1	
  
V(s2)	
  =	
  1	
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s2	
  s1	
  s0	
  

1/2	
  	
  
1/2	
  	
  a1	
   a1	
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●  Observa3ons:	
  (s0)	
  -­‐0.1	
  →	
  (s0)	
  -­‐0.1→	
  (s1)	
  -­‐0.1	
  →	
  (s0)	
  -­‐0.1	
  

	
  
V(s0)	
  =	
  -­‐0.1	
  +	
  0.5	
  (0.5	
  V(s0)	
  +	
  0.5	
  V(s1)	
  )	
  
V(s1)	
  =	
  -­‐0.1	
  +	
  0.5	
  V(s0)	
  
V(s2)	
  =	
  1	
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s2	
  s1	
  s0	
  

1/2	
  	
  
1/2	
  

1/1	
  =	
  1	
  
a1	
  

a3	
  
a1	
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●  Observa3ons:	
  (s0)	
  -­‐0.1	
  →	
  (s0)	
  -­‐0.1→	
  (s1)	
  -­‐0.1	
  →	
  (s0)	
  -­‐0.1	
  →	
  (s1)	
  -­‐0.1	
  

	
  
V(s0)	
  =	
  -­‐0.1	
  +	
  0.5	
  (⅓	
  V(s0)	
  +	
  ⅔	
  V(s1)	
  )	
  
V(s1)	
  =	
  -­‐0.1	
  +	
  0.5	
  V(s0)	
  
V(s2)	
  =	
  1	
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s2	
  s1	
  s0	
  

1/3	
  	
  
2/3	
  	
  

1/1	
  =	
  1	
  
a1	
  

a3	
  
a1	
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●  Observa3ons:	
  (s0)	
  -­‐0.1	
  →	
  (s0)	
  -­‐0.1→	
  (s1)	
  -­‐0.1	
  →	
  (s0)	
  -­‐0.1	
  →	
  (s1)	
  -­‐0.1	
  →	
  (s2)	
  1	
  

	
  
V(s0)	
  =	
  -­‐0.1	
  +	
  0.5	
  (⅓	
  V(s0)	
  +	
  ⅔	
  V(s1)	
  )	
  
V(s1)	
  =	
  -­‐0.1	
  +	
  0.5	
  (0.5	
  V(s0)	
  +	
  0.5	
  V(s2)	
  )	
  
V(s2)	
  =	
  1	
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s2	
  s1	
  s0	
  

1/3	
  	
  
2/3	
  	
  

1/2	
  	
  

1/2	
  	
  

fin	
  de	
  
l’essai	
  

a1	
  
a3	
  

a3	
  a1	
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●  Observa3ons:	
  (s0)	
  -­‐0.1	
  →	
  (s0)	
  -­‐0.1→	
  (s1)	
  -­‐0.1	
  →	
  (s0)	
  -­‐0.1	
  →	
  (s1)	
  -­‐0.1	
  →	
  (s2)	
  1	
  

	
  
V(s0)	
  =	
  -­‐0.1	
  +	
  0.5	
  (⅓	
  V(s0)	
  +	
  ⅔	
  V(s1)	
  )	
  
V(s1)	
  =	
  -­‐0.1	
  +	
  0.5	
  (0.5	
  V(s0)	
  +	
  0.5	
  V(s2)	
  )	
  
V(s2)	
  =	
  1	
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s2	
  s1	
  s0	
  

1/3	
  	
  
2/3	
  	
  

1/2	
  	
  

1/2	
  	
  

fin	
  de	
  
l’essai	
  

à	
  tout	
  moment,	
  
on	
  peut	
  calculer	
  

les	
  V(s)	
  	
  	
  

a1	
  
a3	
  

a3	
  a1	
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dynamique adaptative 

●  On	
  a	
  vu	
  comment	
  résoudre	
  le	
  système	
  d’équa3ons	
  des	
  V(s)	
  
u  on	
  peut	
  écrire	
  le	
  système	
  sous	
  forme	
  b	
  =	
  A	
  x,	
  et	
  calculer	
  x	
  =	
  A-­‐1	
  b	
  

●  Ce#e	
  opéra3on	
  peut	
  être	
  coûteuse	
  à	
  répéter	
  après	
  chaque	
  observa3on	
  
u  inverser	
  la	
  matrice	
  A	
  est	
  dans	
  O(|S|3)	
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Approche par programmation  
dynamique adaptative 

●  Approche	
  alterna3ve:	
  méthode	
  itéra3ve,	
  similaire	
  à	
  value	
  itera3on	
  
1.  Répéter	
  (jusqu’à	
  ce	
  que	
  le	
  changement	
  en	
  V	
  soit	
  négligeable)	
  

I.  pour	
  chaque	
  état	
  s	
  calculer:	
  
	
  V’(s)	
  =	
  R(s)	
  +	
  γ	
  Σ	
  s’	
  ∈	
  S	
  P(s’|s,π(s))	
  	
  V(s’)	
  

II.  si	
  |V	
  -­‐	
  V’|	
  ≤	
  tolérance,	
  qui#er	
  
III.  	
  V	
  ←	
  V’	
  

	
  
●  Plutôt	
  qu’ini3aliser	
  V(s)	
  à	
  0,	
  on	
  peut	
  l’ini*aliser	
  à	
  sa	
  valeur	
  précédente,	
  avant	
  

la	
  nouvelle	
  observa*on	
  
u  une	
  seule	
  observa3on	
  peut	
  avoir	
  un	
  impact	
  minime	
  sur	
  la	
  nouvelle	
  valeur	
  de	
  V(s)	
  

qui	
  en	
  résulte	
  
u  l’approche	
  itéra3ve	
  +	
  ini3alisa3on	
  à	
  la	
  valeur	
  précédente	
  	
  

devrait	
  donc	
  converger	
  rapidement	
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sans	
  le	
  max	
  
p/r	
  à	
  l’ac3on	
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dynamique adaptative 

●  Approche	
  alterna3ve:	
  méthode	
  itéra3ve,	
  similaire	
  à	
  value	
  itera3on	
  
1.  Répéter	
  (jusqu’à	
  ce	
  que	
  le	
  changement	
  en	
  V	
  soit	
  négligeable).	
  

I.  pour	
  chaque	
  état	
  s	
  calculer:	
  
	
  V’(s)	
  =	
  R(s)	
  +	
  γ	
  Σ	
  s’	
  ∈	
  S	
  P(s’|s,π(s))	
  	
  V(s’)	
  

II.  si	
  |V	
  -­‐	
  V’|	
  ≤	
  tolérance,	
  qui#er	
  
III.  	
  V	
  ←	
  V’	
  

	
  
●  Autres	
  accéléra3ons	
  

u  borner	
  le	
  nombre	
  d’itéra3ons	
  (c.-­‐à-­‐d.	
  ne	
  pas	
  a#endre	
  d’a#eindre	
  le	
  seuil)	
  
u  balayage	
  hiérarchisé	
  (priori3zed	
  sweeping)	
  

»  on	
  garde	
  un	
  historique	
  des	
  changements	
  |V(s)-­‐	
  V’(s)|	
  
»  on	
  priorise	
  les	
  états	
  s	
  avec	
  une	
  grande	
  valeur	
  précédente	
  de	
  |V(s)-­‐	
  V’(s)|	
  

●  Permet	
  de	
  résoudre	
  des	
  problèmes	
  où	
  |S|	
  est	
  	
  
beaucoup	
  plus	
  grand	
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Approche par programmation  
dynamique adaptative 

●  Contrairement	
  à	
  l’es3ma3on	
  directe,	
  l’approche	
  par	
  PDA	
  peut	
  apprendre	
  
après	
  chaque	
  observa3on,	
  c.-­‐à-­‐d.	
  après	
  chaque	
  transi3on	
  d’un	
  essai	
  
u  pas	
  besoin	
  de	
  compléter	
  un	
  essai	
  pour	
  obtenir	
  une	
  nouvelle	
  es3ma3on	
  de	
  V(s)	
  

●  Parfois,	
  la	
  fonc3on	
  de	
  récompense	
  n’est	
  pas	
  connue	
  
u  l’agent	
  ne	
  fait	
  qu’observer	
  la	
  récompense	
  à	
  chaque	
  état,	
  et	
  n’a	
  pas	
  accès	
  

directement	
  à	
  la	
  fonc3on	
  R(s)	
  
u  par	
  contre	
  on	
  a	
  besoin	
  de	
  R(s)	
  dans	
  les	
  équa3ons	
  de	
  la	
  fonc3on	
  de	
  valeur	
  
u  dans	
  ce	
  cas,	
  on	
  ini3alise	
  notre	
  es3ma3on	
  R(s)	
  à	
  0,	
  et	
  	
  

on	
  la	
  met	
  à	
  jour	
  lorsqu’on	
  a#eint	
  l’état	
  s	
  	
  
pour	
  la	
  première	
  fois	
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